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1. “A drought around the world raises the total revenue that farmers receive
from the sale of grain, but a drought only in Kansas reduces the total revenue
that Kansas farmers receive.”

Do you agree or disagree with the above statement? (5 points)
Explain your answer.(15 points)

2. A senator wants to raise tax revenue and make workers better off. A staff
" member proposes raising the payroll tax paid by firms and using part of the
extra revenue to reduce the payroll tax paid by workers.

Do you think this will accomplish the senator’s goal (to make workers better

off)? ( 5 points)
Explain your answer. (15 points)

3. Consider a country that imports a good from abroad.
a. The greater the elasticity of demand, the greater the gains from trade.
b. If demand is perfectly inelastic, consumers do not benefit from trade.

For each of the above statements, do you think it is true or false? (2 points

each, total 4 points)
Explain your answer.(8 points each, total 16 points)




4, Consider the relationship between monopoly pricing and the price elasticity
of demand. Draw a diagram for a monopolist,_explain why a monopolist will
never produce a quantity at which the demand curve is inelastic. In your
graph, label the portion of the demand curve that is inelastic, and its
corresponding relationship with the marginal revenue curve. (20 points)

5. Between 2004 and 2007, total U.S. employment increased by 6.8 million
workers, but the number of unemployed workers declined by only 1.1
million. How are these numbers consistent with each other? Explain your

answer. (20 points)



